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Section A : Analog and Digital Communication Systems

Let X(f) be a real WSS process and another process Y(f) = X(t). i.e., Y(f) is the Hilbert
transform of X(t). R,(t) and R,(t) denote the auto-correlation function of X(t) and Y(¢)
respectively, and R,,(t) denotes the cross-correlation function of X(f) and Y(f). Then
prove that the following two relations are true.
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Q.1 (b)| Consider a single-tone AM signal as follows:
s(t) = [1 + pcosw, t] cosw t

2
the expression for the envelope of the resulting modulated signal.
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If u= - and the upper sideband component is attenuated by a factor of 2, then determine
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Q.1(c)| Over the interval |¢|<1, an angle modulated signal is given by, s(f) = 10cos13000%,
Carrier frequency o, = 10000 rad/s.
(i) If it is a PM signal with kp = 1000 rad/V, then determine m(t) over the interval

t<1.
(ii) If it is an FM signal with k, = 1000 rad/s/V, then determine m(f) over the interval
tl<1.
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Two continuous random variables X and Y are related as, Y =aX + b. If ‘a’ and ‘b’ are
positive constants, then derive the relation between the differential entropies of the two
random variables.
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1(e)

What are the advantages and disadvantages of delta modulation compared to PCM?
With the help of a sketch, mention various noises associated with delta modulation.

How will you overcome these noises?
e o [12 marks]
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2 (a)

Two random variables X and Y are independent and identically distributed, each with
a Gaussian density function with mean equal to zero and variance equal to 2 If these
two random variables denote the coordinates of a point in the plane, find the probability

density function of the magnitude and the phase of that point in polar coordinates.
[20 marks]
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Q.2 (b)| A double conversion superheterodyne receiver is designed with fi;, = 30 MHz and
fik@ = 3 MHz. Local oscillator frequency of each mixer stage is set at the lower of the
two possible values. When the receiver is tuned to a carrier frequency of 300 MHz,
insufficient filtering by the RF and first IF stages results in interference from three image

frequencies. Determine those three image frequencies.
[15 marks]
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Q.2 (c)

Consider the signal-space diagram of a coherent QPSK system as shown in the figure
below:

(00) @ ------- T —\E -~ (10)

[ |
s

F 0 \E ()
N2 2
(01); ----------- g --- & (11)
o,(t)

¢, (f) and ¢,(t) are two orthonormal basis functions, which are represented as,
o,(t) = \/%cos(mtfct); R 4
0,(t) = \g sin(2ntft); 0<t<T
All the four message symbols are occurring with equal probability and they are

transmitted through an AWGN channel with two-sided noise power spectral density of

Ny

> + Suggest a receiver model to reproduce the symbols at channel output and derive

an expression for the probability of symbol error.
[25 marks]
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3 ()

1)

ED

The samples of a stationary random process X(t), whose amplitude is uniformly
distributed in the range [-a, a], are applied to an n-bit uniform mid-riser quantizer.
Derive an expression for the signal-to-quantization noise ratio at the output of the
quantizer, with suitable assumptions. Using the expression obtained, find the
signal-to-quantization noise ratio for an 8-bit quantizer.
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.3 (b)| A binary channel matrix is given by,

If P(x,) =1/3 and P(x,) = 2/3, then determine: H(x), H(x ly), H(y), H(y | x) and I(x ; Y)

\ Y .
o) Pixl= [ 4 ?3_} ) p[_;_] _ %[%‘ ;:] [20 marks]
Yo Yo

LE)

2. y
HOX] = —ZPLx) > PO
d=4 hﬁ

4 2 2 1-< 1
= EJA}.‘Z 0 '3’“%2 //

LHD@J = 1 [ f-se4q + pi@ﬁQy/cn? by
° "‘%MS

PIx Y] = PxIy PLYL]

:[1{@‘0][‘1@ i | = | % g
> s | Yo Vo Vie 3/«




Do not

MODE ERSY Question Cum Answer Booklet | Page 200f 60 |l

o PIE) = PLxY) 0-7¢1 0. FE
P(ﬂd [ 0-223 2.:3({3:\
Pivi- POAP[] = [y 3) % B
yo a,/fo
PLv] = [%f{-g— %—*%}

[0 [ 3]

= EP '] Aeq, P[V;
H[Y] o ny] g"‘g [‘Jj




F5°¢

MADE ERSY Question Cum Answer Booklet | Page 21 of 60
ML) = — 22 plxg, 40 teg, P(ﬁ—‘f)
Ex J 3= k= i (g?‘ X

2 tog, (1) + & 232 (1)
* ke (9 %ﬂﬂgz(“@

Y

T\/“f@

1)) = W= H[Y]

= 9“‘”'5" e
— B S(;Gg — 056182 s
(3o = ooz Seti)
-~
X

—o 1299 — O - |7€,\ = 2) —0-0912




/(/‘)(,”ZK WC/

@ MADE ERSY Question Cum Answer Booklet | Page 220f 60 |giiro
Q.3 ()| (i) Ina DSBSC system, the message signal m(t) is multiplied with the carrier signal
c(t) = 4cos(2nf t) to form a modulated signal s(t). If m(t) = 2sinc(2t) - sinc?(t) and
f. =100 Hz, then determine and sketch the spectrum of the modulated signal s(t).
Assume that, sinc(t) = (sin7t) /7t |
(ii) The spectrum of the message signal m (t) is shown below in Figure (a). This signal is
processed by the system shown below in Figure (b).
M(f) x,(f) xt) x5(f)
¢ 1U')| Ideal HPF| 2 3\"| Ideal LPF ¢
/ % " oot = 1o Jaivoti =W e
cos2m f t cos2m( f.+ W)t
W0 W f
Figure (a) Figure (b)
If each filter has a passband gain of 1, then determine and sketch the spectrum of
the output signal y(t). Assume that f. >> W.
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14 (a)

The periodic message signal m(t) shown in the figure below is applied to a phase
modulator to modulate the carrier signal c(t) = cos(2ntf,t). If the phase sensitivity of the
phase modulator is k, = 1 rad/V, then determine and sketch the spectrum of the
modulated signal.

m(t) 4
1V T—
t
0
L A P -
2 2 2 2 il
-1V

[25 marks]
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Q4 (b)

(i)

(i)

A binary data is transmitted through an ideal AWGN channel with infinite
bandwidth. The two sided power spectral density of the noise is %_ If the average

energy transmitted per bit is E,, then derive the condition to be satisfied for error
free transmission.

A binary signal is transmitted through an ideal AWGN channel with infinite
bandwidth. The two-sided PSD of the channel noise is 7 yW/Hz. By using the
condition obtained in part (i), determine the minimum average bit energy required

for error-free transmission.
[12 + 3 marks]
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Q.4 (c)| A zero mean white Gaussian noise W(t) is processed by the section of a receiver shown
below.

1.50 i
| (at 1
0

2
four |

If the two-sided noise power spectral density of the input white Gaussian noise W(t) is
No =1W/Hz, then determine the variance of the corresponding output random

variable “n”.
[20 marks]
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Section B : Network Theory-1 + Microprocessors and Microcontroller-1
+ Digital Circuits-2 + Control Systems-2

Design a J-K flip-flop using a D flip-flop and a 4 x 1 MUX. Write various steps involved

in the process.
To dAesd : TE ﬁLP f—L&P Mt_ua
onwd  4xl Mux

D~ PLCF Flep [12 marks]
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Q.5 (b)

2

A control system with PD controller is shown below:

R 4%‘ Kp+ Kps s(si ) ce)

Determine the value of K, and K, such that the damping ratio of the system will be 0.75
and the steady state error for unit ramp input will be 0.25.

Dhe T'mm,sﬁ.u Funetion E\g g,wm /ig,&e,m {« & [12 marks]

) . kp +kps 4
S C_P ) (e
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Find the current i in the circuit shown below using nodal analysis.
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5(d)

Calculate the delay produced by the following subroutine program of an 8085
microprocessor, which is operating with a clock frequency of 2 MHz.

DELAY : MVI B, 02H )
LOOP2: MVI C, FFH
LOOP1;{DCR C T o

MT-__) ?T/“’T (-/
Nz L , \/ L
Qe

JNZ LOOP2 :

o\

: [12 marks]

2x2ss (147 + 2 (1147) + 4T+ 7T
-+~ &T 4+ &7+ 4T,

1

(g’OXMT) + 22T+ T 17T

1

Y| 4ol teoT B
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Q5 (e)

Sketch the internal block diagram of an 8086 microprocessor.

[12 marks]
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5(a)

)

The following figure shows a unity feedback control system with rate feedback loop.

R(s)— @% s(slf 4) C(s)
o5
Determine:

(i) The peak overshoot of the system for unit step input and the steady state error for
unit ramp input in the absénce of rate feedback. '

(ii) Therate feedback constant ‘o which will decrease the peak overshoot of the system
for unit step input to 1.25%. What is the steady state error to unit ramp input with
this setting.

(iii) Illustrate how in the system with rate feedback, the steady state error to unit ramp
input can be reduced to the same level as in part (i) while the peak overshoot to
unit step input is maintained at 1.25%.

In Dok Lback @, it beeconies  [7+8+10 marks]
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Q.6 (b)| (i) Explain with a block diagram, the working principle of a dual-slope A/D converter.
Derive the expression for the output and maximum conversion time of the circuit.
(ii) A dual-slope A/D converter has a resolution of 4 bits. If the clock rate is 3.2 kHz, then

calculate the maximum sampling rate with which the samples can be applied to the
A/D converter.

Al Hepe Alp Lowaler g

[15 + 5 marks]
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A circuit is made up of a 10 Q resistance, a 1 uF capacitance and 1 H inductance all
connected in series. A sinusoidal voltage of 100 V (rms) at varying frequencies is applied
to the circuit. Find the frequency at which the circuit would consume cnly 10% of the
power it consumed at resonance?

Ak

[15 marks]
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7(a)| Design a synchronous counter, whose sequence diagram is shown below, using
D flip-flops.

:
E

O 8 0,
O O © 1 1 ©O 1 1. B
B o Y i 1 O |, 4 L. O
O 1 o ) 0 0 L4 0 0
O 4 41 i 0 O/:L 0
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7 (b)

A linear time invariant system is characterised by the homogeneous state equation,

B

(i) Compute the solution of the homogeneous equation assuming the initial state vector

x(0) =[ﬂ

(ii) Consider now the system has a forcing function and is represented by the following
non-homogeneous state equation:

1]l

where u is a unit step input function. Compute the solution of this equation
assuming initial conditions of part (i).

v [10 + 10 marks]
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"(c)| () State and explain the Tellegen’s theorem.

(ii) For the network shown below, show that it will satisfy Tellegen’s theorem.
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Q.8 (a)| Two 8-bit numbers are stored in the memory locations 2000H and 2001H. Write 8085

assembly language programs to multiply these two numbers using,
(i) Successive addition method (ii)  Shift and add method

The final result should be stored at the memory locations 3000H and 3001H.
[10 + 10 marks]
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Q.8 (b)

Consider the circuit shown in the figure below:

(i)
(i)

d. =

1

+% V; forlogic—0

—% V; forlogic—1

R
(LSB) d) o——MWW——
dl O—NWV*_‘“" AAAA
R/2
(MSB) dyo —AWW
R/4
d, —AMW—— =
' RJ7 =

Derive an expression for output voltage, V in terms of input logic values.
Using the result obtained in part (i), determine the value of V,, for all the possible

binary combinations of input and comment on the operation performed by the

circuit.

[12 + 8 marks]
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Q.8 (c)

(i)
(i)

State and prove the maximum power transfer theorem for purely resistive source

circuit with variable load resistance.

Determine the maximum power that can be delivered to the variable resistor R in

the circuit shown below.

ek

) A4

5

Ai"""' "’""AV
5Q

4V EE 15Q /2241{
+ Vi _

MWW——
6Q

[10 + 10 marks]
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